54A Stand Assembly

Product Images



https://jpw-catalog-qa-b2c-2.corevist.cloud/54a-stand-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

18

19

20

21

22

Part
Number

6296131

6296121

6285974

6285822

6285852

6296122

6296123

6285975

6285976

6285977

6285980

6285805

6296124

6296125

6285865

6296126

6285988

6285966

6296127

6296128

6285963

6285962

6296129

Description Size

Stand Assembly

Stand

Door

Lock Bolt

Spring Washer 3/8 x 5/8

Screw 1/8-40 x 3/8
Flat Washer 1/8 x 3/8 x 1/32
Screw Knob

Door Lock

Hex Nut 3/8-16

Hex Screw 5/16-18 x 3/4
Flat Washer 5/16 x3/4x 1/16
V-Belt

Motor Pulley

Set Screw 1/4-20 x 1/4
Motor 1 HP, 1PH, 115V
Spring Washer 5/16 x 5/8

Hex Nut 5/16-18

Motor Cord

Switch

Strain Relief SB7R-1

Power Cord

Belt Guard

https://jpw-catalog-qa-b2c-2.corevist.cloud/54a-stand-assembly

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/54a-stand-assembly

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

6285909

6285910

2004017

6285978

6296133

6296134

6296135

6296136

6296137

6296138

6296139

6296140

6296141

6296142

3520B-140

6296150

PM2700-440

PM2700-441

Additional Information

Flat Washer

Handle Screw

Dust Chute

Key

Switch Pushbutton
Switch Cover

Switch Box

Pan Head Screw
Washer

Machine Screw

Pan Head Screw

Flat Washer

Star Washer

Nut

Powermatic Nameplate
Warning Label

Wide Stripe (not shown)

Narrow Stripe (not shown)

1/4-20 UNC x 1/2

1/4-20x 1/2

5x5x30

#10-24x 1/2

3/16 x 1/2 x 1/32

M4 x 1.59P x 38m
#8-32 x 5/8

5/32 x 3/8 x 1/32

BW-4 (5/32 x 3/8)

#8-32

per ft

per ft

Stock Number

Products in this set

1791279DXK-1

https://jpw-catalog-qa-b2c-2.corevist.cloud/54a-stand-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/54a-stand-assembly

